


1 Ratio of age of A and B, 6 years ago was 3: 4. 

Sum of the present age of B and C is 80 years. 

C is 12 years elder to A. Find the difference of 

B and C’s age five years later? 

6 वर्ष पहलेA और B की आयु का अनुपात 3:4 था।

B और C की वतषमान आयु का योग 80 वर्ष है। C, A 

से 12 वर्ष बडा है। पााँच वर्ष बाद B और C की आयु

का अंतर ज्ञात कीजिए?

(a) 3 years (b) 7 years (c) 6 years (d) 5 years 



A man can row at a speed of 4.5 kmph in still water 

to a certain upstream point and back to the starting 

point in a river which flows at 1.5 kmph .Find his 

average speed of total journey?

एकआदमी शांत पानी में 4.5 जकमी प्रजत घंटे की गजत से

एक जनजित अपस्ट्र ीम जबंदु तक नाव चला सकता है और

1.5 जकमी प्रजत घंटे की गजत से बहने वाली नदी में

शुरुआती जबंदु पर वापस आ सकता है। उसकी कुल यात्रा

की औसत गजत ज्ञात कीजिए?

1).6    2). 8   3). 4    4). 3
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A sum of Rs 8448 is to be divided between 

A and B who are respectively 18 and 19 

years old in such a way that if their shares 

be invested at 6.25% p.a at C.I ,they will 

recieve equal amount on attaining at the 

age of 21 yr find the present share of A?

8448 रुपये की राजश कोA और B के बीच

जवभाजित जकया िाना है िो क्रमशः 18 और 19 

वर्ष के हैं, यजद उनके शेयरों को C.I. पर 6.25% 

प्रजत वर्ष की दर से जनवेश जकया िाता है, तो उन्हें

आयु प्राप्त करने पर समान राजश प्राप्त होगी 21 

वर्ष में A का वतषमान जहस्सा ज्ञात कीजिये?

1.)4225 2)4000   3)4352 4) none
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4 Manoj gave 60% of his salary to his wife and

invested rest amount in mutual funds. His wife

spends 30% amount on grocery and 20% on rent.

From remaining amount, she purchased gold worth

Rs. 18000. Find salary of Manoj.

मनोि ने अपने वेतन का 60% अपनी पत्नी को जदया और

शेर् राजश मू्यचुअल फंड में जनवेश की। उसकी पत्नी

जकराने पर 30% और जकराए पर 20% राजश खचष करती

है। शेर् राजश से, उसने रुपये का सोना खरीदा। 18000.

मनोि का वेतन ज्ञात कीजिये

a)Rs 60000 (b) Rs 54000 (c) Rs 64000 (d) Rs 58000



When digits of the two digits number are 

reversed, number obtained is 9 less than 

twice of the original number. Also, the 

new number obtained is 175% of the 

original number. Find the sum of the 

digits of the number?

िब दो अंकों की संख्या के अंकों को उलट

जदया िाता है, तो प्राप्त संख्या मूल संख्या के

दोगुने से 9 कम होती है। साथ ही, प्राप्त नई

संख्या मूल संख्या का 175% है। संख्या के

अंकों का योग ज्ञात कीजिये?

(a) 13 (b) 10 (c) 9 (d) none 
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Two posts are x metres apart and the height of one is double that of the other. If 

from the mid-point of the line joining their feet, an observer finds the angular 

elevations of their tops to be complementary, then the height (in metres) of the 

shorter post is 

दो खंभे x मीटर की दूरी पर हैं और एक की ऊंचाई दूसरे से दोगुनी है। यजद उनके पैरों

को िोडने वाली रेखा के मध्य-जबंदु से, एक पयषवेक्षक को उनके शीर्ष की कोणीय ऊंचाई

पूरक लगती है, तो छोटी पोस्ट् की ऊंचाई (मीटर में) है

A.x/2√2     B. x/4   C. x√2     D. x/√2
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There are two containers P and Q 

containing mixture of milk and water. 

The concentration of milk in container P 

and Q is (x-5) % and (x + 10) % 

respectively. If both mixtures are mixed 

together in a certain ratio to get 170 litres

of mixture in which the concentration of 

milk is (x + 4)%, find the amount of 

mixture used from container Q 

दो कंटेनर P और Q में दूधऔर पानी का

ममश्रण है। कंटेनर P और Q में दूध की सांद्रता

क्रमशः (x-5)% और (x + 10)% है। यमद 170

लीटर ममश्रण प्राप्त करने के मलए दोनो ं

ममश्रणो ंको एक मनमित अनुपात में ममलाया

जाता है, मजसमें दूध की सांद्रता (x + 4)% है, 

7



8
Shiva purchased an item for Rs.8200 and sold it 

at a gain of 25%. From that amount he purchased 

another item and sold it at a loss of 20%. What is 

his overall gain/loss?

जशव ने एक वसु्त 8200 रुपये में खरीदी और इसे 25% 

के लाभ पर बेच जदया। उस राजश से उसने एक अन्य

वसु्त खरीदी और उसे 20% हाजन पर बेच जदया। उसका

कुल लाभ/हाजन क्या है?

A.Loss of Rs.120 B.Gain of Rs.120 C.Loss of 

Rs.140 D.Neither loss nor gain



A grocer purchases three qualities of lemons at different  rates. The 

first quality was purchased at 2 for 1, the second at 3 for Rs.2 and the 

third at 4 for Rs.3 .He sold all the lemons at 5 for Rs.4. If the ratio of 

the number of lemons of the three qualities is 1:2:3, then what is the 

approximate gain or loss percentage incurred by the grocer?

एक पंसारी अलग-अलग दरों पर तीन प्रकार के नीबूं खरीदता है। पहली

गुणवत्ता वाले नीबूं को 1 के जहसाब से 2 में खरीदा गया, दूसरे को 2 रुपये में 3 

पर और तीसरे को 3 रुपये में 4 पर खरीदा गया। उसने सभी नीबूं को 5 रुपये

में 5 पर बेच जदया। यजद तीनों गुणों वाले नीबूओं की संख्या का अनुपात 1:2:3 

है, तो पंसारी को होने वाला अनुमाजनत लाभ या हाजन प्रजतशतक्या है?
A.2.65% loss B.17.56% loss C.17.56% gain D.18.65% gain
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L.C.M. of two numbers is 120 

and their H.C.F. is 10. Which of 

the following can be the sum of 

those two numbers? 
दो संख्याओं का ल .सा 120 हैं और उनके म .सा . 

10. जनम्नजलखखत में से कौन सी उन दो संख्याओं

का योग हो सकता है?

A 140   B 80   C 60    D 70
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11

a. 4

b.52

c.64

d.76

If x+
𝟏

𝟏𝟔𝒙
=1, the value of 64x2 +

𝟔𝟒



After certain time ratio of principal and amount received is 

4:7 and after 11 more years their ratio becomes 3:8 .find the 

rate if principal was invested at S.I?

जनजित समय के बाद मूलधनऔर प्राप्त राजश का अनुपात 4:7 है

और 11 और वर्ों के बाद उनका अनुपात 3:8 हो िाता है। यजद

मूलधन को S.I पर जनवेश जकया गया था तो दर ज्ञात करें?

1. 8.38
2. 8.33
3. 6.33
4. 8.45
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A sum invested in C.I grows bt RS 2625 in 3 years.If the rate of interest 

is 16.67% for first year, 20% fir 2nd year and 25% fir 3rd year find the 

sum invested?

C.I में जनवेश की गई एक राजश 3 वर्ों में 2625 रुपये बढ़ िाती है। यजद ब्याि दर

पहले वर्ष के जलए 16.67% है, दूसरे वर्ष के जलए 20% और तीसरे वर्ष के जलए

25% है तो जनवेश की गई राजश ज्ञात करें?

1. 5300
2. 3530
3. 3500
4. 3545
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The distance between two vertical poles is 60 m. The height of one of 

the poles is double the height of the other. The angle of elevation of the 

top of the poles from the middle point of the line segment joining their 

feet are complementary to each other. The height of the poles are :

दो ऊर्ध्ाषधर खंभों के बीच की दूरी 60 मीटर है। एक खंभे की ऊंचाई दूसरे खंभे

की ऊंचाई से दोगुनी है। इनके पादों को जमलाने वाले रेखाखंड के मध्य जबंदु से

खंभों के शीर्ष का उन्नयन कोण एक दूसरे का पूरक है। खंभों की ऊंचाई है

A. 10 m and 20 m 

B. 20 m and 40 m 

C. 20.9 m and 41.8 m 

D. 15√2 m and 30√2 m
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(1) 7

(2) -7
(3) –3

(4) 3
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xa xbxc = 1 

a3 + b3 + c3 =?

(1) a

(2) abc

(3) a+b+c
(4) 3abc
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(1) 17/13

(2) 13/17
(3) 1/13

(4) 1/17
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(1) 0

(2) 1
(3) 3

(4) 2
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A right angle triangle with sides of 6 cm, 8 cm and 10 cm. 

Find the in- radius and circumradius respectively –

6 सेमी, 8 सेमी और 10 सेमी के पक्ो ं के साथ एक समकोण

मिभुज। क्रमशः मिज्याऔर पररमध मिज्या ज्ञात कीमजए -

(1) 1 cm, 2 cm

(2) 2 cm, 5 cm

(3) 5 cm, 2 cm

(4) 4 cm, 5 cm
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The area of a trapeziums 384 cm2. If its parallel sides are in the 

ratio 3 : 5 and the perpendicular distance between them is 12 cm, 

the smaller of the parallel sides is 

एक समलंब का के्िफल 384 सेमी 2 ,यमद इसके समानांतर पक् 3: 

5 के अनुपात में हैं और उनके बीच की लंबवत दूरी 12 सेमी है, तो

समानांतर पक्ो ं मे छोटे भाग की लंबाई ?-

(1) 16 cm

(2) 24 cm

(3) 32 cm

(4) 40 cm
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